MCR3U1
Day 7: Determining the Equation

Date:
Chapter 6: Sinusoidal Functions

Determining the Equation of a Sinusoidal Function

f(x) = asin[k(x — d)] + cand f(x) = acos[k(x — d)] + c\

Case 1: SINE EQUATION
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The function can be considered as a sine function. Determine the equation of the function, and then check

your answer using desmos. (Note: You need to choose degrees on Desmos. Just click F )
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Case 2: COSINE EQUATION
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The function abeve can be considered as a cosine function. Determine the equation of the function and then

check your answer using desmos.
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Ex1: Write two equations to represent each function. — qxis o+ 'H& - QMP'I tude —?Cn‘acl." f
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Ex2: Write two equations to represent each function.

(7= 4 cos ( k-lS‘J)-{-?_
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Ex3: A nail located on the circumference of a water wheel is moving as the current pushes on the wheel. The
height of the nail in terms of time can be modeled by the graph shown. Determine the equation of a

sinusoidal function fr.om its graph.. awld‘ r,,{. 4 OMFI;-h..df. Period = }_5%:
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